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1. Find the minimum valye of 5
(A) 0
(B) -1

(€) -3
(D) -13

sind + 12 cosp

2. Dinact?on: Study the following sequence
of letters, digits and symbols carefully:

8- FWS$Y56G?71EN#P3 @JIBA4MR92+K

Which of the following elements will 'l:)i

the seyenth to the right of the tenth element from

your right in the above sequence?
(A) R
B +
© 9
(D) 2

3. Amal and Bimal started a business. Amal
invested Rs. 500 for 9 months and Bimal invested
some money for 6 months. If they make a profit of
Rs. 69 in a year and Bimal gets profit share of
Rs. 46. The capital of Bimal in the business\is

) Rs. 1,500 W ,}‘%ﬂ@
(B) Rs.3000 |, §T—

(C) Rs. 4,500 el

(D) Rs.6,000 "

4. 10? + 1/100 + 0-0001 equals to

(A) 1-000101 -
(B) 1000101 “O'.' b‘::
(2 1000101 \ob-/\
(D) None of the above o

5. If /529 = 23 then the value of +/0.000529

Mn%

is
(A) 2.3
(B) 0.23

«(@) 0.023
(D) 0.0023

6. A lift carrying 50 passengers from the
ground floor of a 100 storeyed building is moving
upward. The lift stops at Ist, 2nd, 3rd floor then
skips 4th floor, again stops at Sth, 6th and 7th then
skips 8th floor and so on. Passengers get discharged
in a pattern. 2, 3, 3, 2, 3, 3, ... . In which floor the
lift becomes empty?

(A) 23
(B) 24
(C) 25
(D) 26

/@A plot of 640 sq ft is available at the rate of _
Rs.4;600 per sq ft. If 30% of the total cost of the
plot is to be paid for booking the plot. How much =
is the booking amount? ‘

(A) Rs.9,38,100
_4B) Rs.8,83,200. 6'\'*1""@1&
(C) Rs.9,83,200 3

3
(D) Rs. 8,38,100 A,

8. Direction: Study the following sequence
of letters, digits and symbols carefully:

8-FWSYS6G?71EN#P3@JBA4MR92+K

If the first seventeen elements are written in
the reverse order followed by the next eleven
elements, which element would be the fifth to the
right of E?

(A) 5
(B) 6
«€) G
D) ?

9, The ratio of cost price to sale price is 20 : 23,

What is the profit percentage?
(A) 20% S
B) 15% }v\"’
(€) 5% »
(D) 6%
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ection: Inthe Venndiagram given below
10. Direction: In each question below (w0 a :)cl:;f Be(:;ali students of age 18 attending
' db , : i lete lock
protien s e ghvn, Thse o ollows) | i counes drog complete sk
’ . ig as follows:

(D). The two problem figures have some common o e represents the students who are learning
characteristic features. You have to find out one of ’;‘he Sﬂl;]m;hc triangle is for those who are learning
the answer figure which has the same commonality. | 2Ly e circle is for those who are learning

The number of that answer figure is the required photography. Study the diagram and answer the

S stions
Problem figures E g()\ que )

Answer figures

(A) E ® | N

s(c/ The number of students learning
) (—E]V ©) "Dﬂ photography is how much more/less than the
students who are Ec_aming Spanish?

(A) 10 more

(B) 10 less

ALE) 20 more
(D) 20 less

13. If an amount of Rs. 84,105 is distributed
equally amongst 35 children. How much amount

would each child get? Y | Jyo
(A) Rs. 2,430 <
N % (B) Rs. 2,043, Guesen %‘f}
\(CY Rs. 2,403 N
(D) None of the above \We
{11.) A room is 26 feet long and 10 feet wide, If
its Tloor is to be covered by square tiles, how man 14,
minimum number of tiles will be required? ’ the vahllt;solf.; ‘;: ll_2at’ U008, .i
((;; :g (A) 1196 »“%“’
(C) 65 'M/ 87 1098 oY y X
(D) S5 R o i Sl
(D) 1392
\\ﬂ)ﬂ S
Please Turn Over
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15. The least number which when dimi.nished
by 5 is divisible by each of 21, 28, 36, 45 is

(A) 425 R L
(B) 1260 Y

(2J 1265

(D) 1259 b

Direction: Study the following information
arefully and answer the questions given below.

An algorithm rearranges a sequence of numbers
following a specific rule in each step. Following is
an illustration of input and the subsequent steps of
rearrangement.

Input:
Step 1
Step 2

98 31 067';632936 12 84
9831367263 590612 84
84 313672635906 1298
Step3 843136637259 061298
Step4 843112637259 06 36 98
Input: 06 _2_31 36 59 63 72 84 98
Which of the following will be step 4 fc 4 for this
input?
(A7 98 12 84 59 36 63 3172 06
(B) 98 12 84 59 63 36 31 72 062
(C) 98 12 84 59 36 31 63 72 06
(D) 98 12 84 59 31 36 06 72 63)o

17. A, B, C, D and E are sitting in a row. B is
l::tween A and E. To find out who among them is
in the middle, which of the following statements P
and Q is/are sufficient? '

P. A is left of B and right of D.

Q. Cis at the right end. -"\"'ﬂ

(A) QbutnotP *
(B) P but not Q

(C) BothPand Q

(D) Neither P nor Q

18. Find the compound interest on Rs. 14,000
for 2 years at 5%, interest being payable annually. v

J1

(A) 15,435 " %
B) 1,435 ! M

(©) 1,235 L V}

(D) 1,535 0%

A-4

19. Choose the similar pair to the given pair.,
Given pair : 11:1210

‘ (A) 6:216
- (B)7:1029
S (0 8:448

1 D) 9:729

20. The lgast number that is to be subtracted
from 5629 to make the result a perfect square is

AT 4

(B) 1 ,'-.L( a

©) 2 5 ft-f"\

(D) 3 Sear”
Wy,

21. The volume of a solid hemisphere is
numerically equal to its total surface area. Its

radius is
AT 42 units ,ﬂ' 7
(B) 9 units /‘q.;d
(C) 3 units ¥ ’{/
(D) I—;-units

22. 1If the edge of a cube is increased by 25%
then percentage increase in its surface area is

(A) 25%
(B) 48:75%
(C) 50%

B 56:25%

@ The dnfforencc of a proper fraction and its
reciprocal is d . Find the fraction.

12°
) -3 4R &

3 s L w oW
\—(B) 4 o ‘6 \: :’*-‘[

o
© % Vet 1
I'd
1 W
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24. Two angles of a triangle are 75° and 45°.
Whatisthe value of third angle in circular measure?

(as per convention, we do not use the symbol of
radian.)

(A)
(B)
AC)

(D)

wnia &3 WA A

25. Firm is related to Flabby in the same way as
Piquant is related to ;

(A) Bland
(B) Salty
(L) Pleasant
(D) Small

26. The value of the product (a-u) (b-u)
(c—u)..(z=u)is

(A) 25
(B) 26
) 0
(D) 1

A sum of money at compound interest
amounts to Rs. 650 at the end of the first year and
Rs. 676 at the end of the second year. The sum of

money is

(A) Rs.6007¥8,x | RACAY

(B) Rs. 620777 (& ﬁj

(C) Rs. 580 .

(D) Rs. 625 ol
\ 6

28. If (a, b, ) * (d, e.f)=51><f+.b,>5_¢+cld,

then (5,7, 10) * (2,3,2) is _
(B) 16 o B
SrY W<
(C) 26 VAR
(D) 36 SN

"%

¥ o

“E R S — | ———
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29. Ifvand ¢, respectively, denote the number
; and the number of consonants in

of vowels
ANTIDISESTABLISHMENTARIANISM_ then
' c-V)XC .
the value of -(-S—V—:T is
(A) O
B) 1
e 2
(D) 3 \V‘JJ
. 3 e

30. The area of an equilateral triangle is
400\/5 sq. m. Its perimeter is

120m v
(C) 90m o ~ qmprﬁ
: (D) 135m e
W
‘o"‘f
N"‘IN AL®
N
Yy .Y . £ .
B e N T T e
then the value of K is
1
(A) Eorz
1
(B) -1 or 'E
1
© 2orl
1
(D) 3 or -1

312. A ;urvey shows that 73% of the Indians like
apples, whereas 65% like oranges. What percentage
of Indians like both apples and oranges?

(A) 83% | Py
(B) 8% ad SIS
(€) 38% )
(D) 35%

Please Turn Over
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33. Direction: Read the information given
below and answer the questions.

(i) Inafamily of six persons A, B, C, D, E and

F, there are two married couples.

(i) D is grandmother of A and mother of B.

(iti) C is wife of B and mother of F.

(iv) Fis grand daughter of E.
Which of the following is necessarily true?
(A) A is brother of F. :
(B) ‘D has two grandsons. y»
(C) B hastwo daughte.r. 5

VGDS None of the above;_'

34. Masood purchased a plot for Rs. 8,000. He
sells the plot to Aftab at a profit of 20%. Aftab in
turn sells that plot to Zahid at a loss of 20%. The
plot costs Zahid '

&
(&) Rs. 12000 ¢ i <y
(B) Rs. 10,000 A :
(C) Rs. 8670

)
s

7 Rs. 7680 X%,

A-6

38. If cotd = X then what is the value of
y

xcosO—ysin® 9
xcosO+ ysin®

x2+y2

(A) 32— )2

2
xt -y

3
2+y

(B)

2 2
y —X
© 77,
x2
® 5

A pump can fill a tank with water in 2 hours,
Because of a leak developed in the tank, it takes
now 2.5 hours. to fill the tank. The leak will empty
the full tank with pump not running, in

(A) 8 hours

Bs
35. The length of the sides of a triangle are (B) 10hours g9 \
Scm, 12cm and 13cm. Its areais © 14 go_urs i N o
o s ";: \ 19
&) 30cm? (a&.* 3 (D) 2.33 hours L N
(B) 37-5cm? )5;?} -~ i
(C) 60cm?
(D) 78cm? 40. A boy recorded the weight of some of his

36. How many more words (not necessarily
meaningful) can be formed using the letters of the
word RYTHM taking all at a time?

(A) 24
(B) 25
(C) 119
(D) 120

37. How much time will it take for an amount
of Rs. 450 to yield Rs. 81 as interest at 4.5% per

annum of simple interest? j"ﬁf? t.
g\k"‘ (A) 3.5 years /ﬁ
:éf/:/ (BY 4 years @a Vo
kY

(C) 4.5 years
(D) § years

%\‘P

friends as 32Kg, 30kg, 40kg, 65kg, S4kg, 38kg,
26kg, 45Kg, S0kg, 52kg, 40kg. Whatis the median?

(A) 38kg
B) 40kg a0
(C) 45kg '5%
(D) 43.8kg 1)
W

4%‘/{‘4 1,'(
41. Find the angle of the elevation of the Sun

when the length of shadow of a vertical poleis NE]
times its height, i
(A) 45°
B 60°
(C) 30°
(D) 221°
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42, ‘Some of the letters are missing, which are
given in the order as one of the options below it.
Select the correct option.

aba_*

_ab

. ba
(A) abbba '
(B) abbab

€) baabb
(D) bbaba

43. In an Arithmetic Progression, if a = 28,

d=-4,n=17,then a,is : - "
JAT 4 A
7N
®) 5 & WY = e
© 3 RS
a) .
(D) 7

@ Which of the following ratios is greatest?

(A) 7:15
(B) 15:23 %
(C) 17:25 % L
(D) 21:29

45. Which term of the A.P. 3, 8, 13, 18, ...is

787 k%
(A) 12th i L“*\w( %
(B) 13th > e
(C) 15th »
D) 16th

46. Direction: In each of the following
questions, there is a certain relationship between
two given words on one side of : : and one word is
given on the other side of : : ; while another word
is to be selected from the given alternatives.

Jeopardy : Peril : : Jealousy : ?
X&) Envy '

(B) Insecurity

(C) Lust

(D) Sin

BMW(C)-10021,

47. Find the correct figure in which the given
figure on the below is embedded.

b

B)»  ~A0

(A) &

@Tota] price of 6 shirts and 7 trousers ?s
Rs4,130 while that of 4 shirts and 9 trousers is

Rs. 4,%70. Find out the price of 3 shirts.
(A) Rs. 850 a

LB Rs. 840, LeaHY

(C) Rs. 860

(D) Rs. 810

Direction:

A family consists of six members, namely, A,
B,C,D,Eand F.

B is the sister-in-law of C’s mother.
C is the sister of F.

A is the father of D and F is the grandson
of A.

There are three male members in the family*
Who is the mother of F? \ -

JA) D ¢ . Q}g’o
™
(B) E S sl 3
©) B O/./‘r"

(D) Cannot be determined.

50. The sum of opposite angles of a cyclic
quadrilateral is

(A) 90°
(B) 120°
150°

"% 180°

Please Turn Over
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53. Direction: In each question below two
problem figures are given. These are followed by
four answer figures indicated by (A), (B), (C) and
(D). The two problem figures have some common
characteristic features. You have to find out one of
the answer figure which has the same commonality.

The number of that answer figure is the required
answer,

+ + +
+

Problem figures

Answer figures

@A |+t + |
+ +

< ?)‘Q,

BMW(C)-10/21 A-8 14 Q\A "

(;gj') Find the largest possible number that may t0 = /3, find the valy
divide each of two numbers sum of which is is 1394, 4 Ik T R0-Heo J—' -4
when none of the component numbers is zero or cosect.
equal to each other. (A) __\/i

(A) 17 -
B) 34
.,:c; . (B) V3
1
(D) 82 (C) —ﬁ
g 7
N v B
Ve
52. A man borrowed Rs. 16,000 from two

persons. He paid 6% interest per annum to one and
10% interest per annum to the other. In the first 55. If a_ _ b - ¢’ = 1. then the
year he paid a total interest of Rs. 1,120, How b+c c+a  a+b ’
much did he borrow from the first and second 1 1 1
person respectively? value of -—— + 145 T T3¢ 18

(A) Rs. 12,500 ; Rs. 3,500 A ::

\® (B) Rs. 11,000 ; Rs. 5,000 B Y

[ ePRs. 12000 Rs. 4000 \© B -
/" \(D) Rs.10,000;Rs. 6,000 W e © -
N 4 (D) 2

A man borrows Rs. 2,550 to be paid back
with ¢

ompound interest at the rate of 4% per
annum by the end of 2 years in two equal yearly
instalments. How much will each instalment be?
(A) Rs. 1,352

(B) Rs. 1,283

JQJ Rs. 1,377

(D) Rs. 1,275

@The Length of radius of spherical gas
balloon increases from 7cm to 21cm as air being

pumped into it. The ratio of surface areas of the
balloon in two cases is

+ + +
(©) (D)
+ | +

A) 91 '3 1 ,;,g\

(B) 49:21 WA ’

(C) 1:9 \ (|
(D) 7:441 LEW. V:{(
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58. Theangle between the external bisectors of

two angles of a triangle is 60°, then the third angle
of the triangle is ¢

(A) 40° D’

B) 50°
(C) 60°
(D) 80°
'59. Choose the number which is similar to a
given set.
Given set: 363, 489, 579
(A) 562 '
uB) 471
(C) 382
(D) 281

60. Five bells ring at intervals of 3, 3, 6, 8 and
9 seconds. If all the bells ring once, after how long
a period the bells would ring together again?
(A) 12 minutes

Vm 6 minutes ) $ L 7,
(C) 18 minutes E W
(D) 24 minutes TS
\33‘%}
If i;-+§=4 and %+%=1 then what is
x + y equal to? -\j’——
(A) 11 e B "
(B) 10 * I
©) 9 P
(D) 8

62. Arrange the given words in the sequence in
which they occur in the dictionary.

1. Spruce
2. Spume
3. Spree
4. Spurt
5. Sprawl -
(A) 1,2 3,4,
(B) 1,5,3,4,2
«2j 5,3,1,2,4
(D) 5,4,3,2 1

BMW(C)-102]"

The height of a tower is 4h meter and the

héight of the observer is h meter. He finds the top

of the tower from a distance J3 h meter from the
tower. Find the angle of elevation of the tower as
seen by the observer.

(A) 60° "

(B) 30° “

(C) 45°

(D) 75°

_63. The area of a regular hexagon with side

10cm. is - -
(A) 5043 cm’
(B) 150/3 cm’

‘}Qf 50cm?

(D) 300cm®

3 O <

)
49

65. Direction: Study the following sequence
of letters, digits and symbols carefully:

8:FW$Y56G?71EN#P3@JBA4MR92+K

How many symbols are there in the sequence
thatyare immediately followed by a digit and
preceded by a letter? '

(A) 0

B) 1

©) 2

B 3

66. State in which of the following quadrants
the point (\/§-3, J§—2) lies.
(A) first

B) second
(C) third
(D) fourth

67. If x is a prime number, the LCM of x and
(x+1)is

(A) x*
(B) (x+1)?

(©) xﬂi‘i‘_)
2

~/('6) x(x+1)

Please Turn Over
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68. Direction: In each of the following
questions, there is a certain relationship between
two given words on one side of : : and one word is
given on the other side of : : ; while another word
is to be selected from the given alternatives.

Qwartz : Radio : : Gypsum : ?
(A) Glass
(B) Porcelain

\_,(Cj Cement

(D) Powder

69. Asumofmoney placed atcompound interest
doublesitselfin S years. Inhow many years it would
be 8 times of itself at the same rate of interest?

(A) 10 years _ . w—
BJ"15 years LR

(C) 20 years

(D) 7 years

70. The sum of the first five multiples of 3 is
]

A 45

®) 55 b )

(©) 65 SR
o x n

(D) 75 v ‘L“’ \;\’\

The diagonals of a rhombus are 24cm and
10cm. The perimeter of the rhombus {in cm.) is

() 68 ) .

(B) 657 X
N (C) 54 \(‘Myc
" (D) 52 IS A

2, J248 + \}gz ++/144 is equal to
-1
(A) 166 '

B) 16

©) 14

(D) 18-8

A-10

73. Which is the greatest?

(A) +0.09

(B) 3/0.064 )
3 - “y
9 5 Yy
(D) 0.5
@ Total expenses of a hostel are partly constant

and partly vary directly as the number of boarders.
When the number of boarders are 120 and 100 the
total expenses are Rs. 2000 and Rs. 170.0
respectively. Find the total number of boarders if
the total expense is Rs. 1880.

ar~’ . ;
ol (A) 200 o wer \Q‘/"-":i
B 112 A et T
(©) 138 ke LI
(D) 115 . Tl &
\1° &rk*:
75. The average of first 10 even numbers is
NOA) 18 | B
(B) 22 : N’%
) 9 )
(D) 11

76. The average of first 10 odd numbers is

(A) 11

»
AB) 10 e ‘:
©) 12 \%"‘
D) 17 " C:/ 0\
e i
77. TT}e difference between the :quares o%
consecutive even fntcgers is always divisible by
(A) 3
B 4 Y
V& v
(D) 7 g




The average of first 10 natural numbers is
W S B

(B) 5.5

(C) 6.5

(D) 6

@ The age of son today is % th of the age of his
fathér. After 20 years, age of father will be twice

the age of his son. The age of the father today is
(A) 36 R

(B) 40 ;
(©) 44 s AT
(D) 48 : w

80. Which of the following four logical

diagrams represents correctly the relationship
between

M‘gsici_gns, Instrumentalists, Violinists?
@ @O @D ©
AR) (B) (©) (D)

81. Direction: In each of the following
questions, choose the set of numbers from four
alternatives, that is similar to the given set.

Given set : (21, 51, 15')
AA) (21,30, 51)
(B) (21, 35,41)
(C) (21, 51,42)
(D) (21,91, 35)

82. A hemisphere can with internal radius of
9 ¢m is completely filled with water. Spmeone is
requested to fill this water ina Fylmdncal bottle
with a diameter of 3 cm and height of 4 cm. The
number of bottles to be required to make the can

(D) 256

w5 EE——

A-11
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Suppose yesterday is not Sunday. Which of

the following day cannot be the day after tomorrow?

(A) Monday,
Tuesday ,
(C) Wednesdays

wﬂ?)%

empty is y w\“’ﬁ‘? )
54 " xA
(B) 128 24 o
(C) 36 s

\
_ ¥

Jgf Thursday

84. Gold is 19 times as heavy as water' @d
copper is 9 times as heavy as watt?r. The ratio in
which these two metals are to be mixed so that thc
mixed alloy becomes 15 times as heavy as water is

j2:3 Gl
0\ L
{C) 3:2 o -
(D) 19:135 a ?
~ \<—
/

85. There are five positive observations. Ave?age
of the first three observations is 8 and that of the last
three observations is 6. If the average of all five
observations is 6, what is the third observation?

(A) 10 -

(B)/'8 ™~ ™
e 12 1k

(D) 14 “

@ ‘+’ stands for division, ‘+’ stands for
multiplication, ‘x’ stands for substraction and ‘-’
stands for addition. Which of the following
equations is correct?

(A) 18+6-7+5%x2=20

UB) 18+6+7x5-2=18

(C) 18x6+7+5-2=16

D) 18+6x7+5-2=22
T =

8“7. If the ratio of three numbers are 3:4:5 and

their LCM is 1200, then the smallest number is
r
(A) 80 ™ oD
\_@ 60 i = w \ w
wY ‘} w
(©) 120 % o
(D) 100 o
' Please Turn Over
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88. A is twice as good a workman as B. A and
B together complete a piece of work in 28 days. In
how many days will A alone do the same piece of

work?
g/

(A) 40 days
\(BT 42 days
(C) 35 days
(D) 36 days
89. DDT is related to Abbreviation in the same
way as LASER is related to
(A) Antithesis
_8) Acronym-
(C) Epigram
(D) Epithet ,

@ Direction: Study the following information
carefully and answer the questions given below.

- An algorithm rearranges a sequence of numbers
following a specific rule in each step. Following is
an illustration of input and the subsequent steps of
rearrangement.

A? 10

NG v
Input: 98 31 06 72 63 59 36 12 84
Step 1 9831367263 59 06 12 84
Step2 8431367263 59061298
Step3 84313663 7259061298
Step4 8431 126372 59 06 36 98

Input: 12 31 59 36 63 7298 84 06

The sum of the numbers for the given sequence
whose positions remain unaltered through all the
steps as in the input is ' '

A-12

92. Direction: In each question bellow two
problem figures are given. These are followed by
four answer figures indicated by (A), (B), (C) and
(D). The two problem figures have some commop
characteristic features. You have to find out one of
the answer figure which has the same commonality,
The number of that answer figure is the required

answer. ] 0 Ol [s O
‘ Problem figures s A A O
Answer figures
s O
59 W3
D
= g s ( ).

93. If each interior angle of a regular polyy
is 144°, find the number of sides of the polygon

AT 10

(B) 20 &2, 7
(C) 24 \ 5%
(D) 36

7 BEMUTKNRR S
Qou 1t the tetters of the word RAMAKRISHN A
are rearranged according to English alphabetical
order, how many letters will remain in the same
position after the rearrangement?

AT 94 Y (A) 0
By 103 ) 1
(©) 129 J(g) 2
(D) 131
2 4 6 . @y 3
91. HCF of the fractions, O and % 18
48 ' ‘
(A) e 95. The time in which Rs. 80,000 amounts to
. 9 Rs. 92.610. at 10% per annum compound interest,
\/CBT_T(E , : \,t%(dt - interest being compounded semi-annually, is
24 k 56) ) 15 ycan |
(©) T \\g} \ \ #B) 2 years L\'D" L)
1 . (C) 3 years \?' \ ol
s . LB N\
105 (D) 2.5 years

i
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9. Direction: In each of the following
questions, choose the set of numbers from four
alternatives, that is similar to the given set.

Given set : (63, 49, 35 )
(A) (72, 40, 29)
(B) (72,48, 24)
(C) (64, 40, 28)
(D) (81, 63, 45)

@ If a car is sold for Rs. 50,000 the profit is
17 per cent, what would be profit percentage i
“sold for Rs. 47,000? profit percentage if

\A vy
(A) 14.85% g D
(B) 9.98% SEE " i
(©) 16.20% A
(D) 14.50% "a?& N o

98. A milkman has 21 litres of whole milk,
42 litres of toned milk and 63 litres of double toned
milk. If he wants to pack the three types of milk in
cans so that in no can two types of milk are mixed,
then what is the minimum number of can would he
require? N

o TN

BMW(C)-10/21 »

101. Direction: Study the following sequence
of letters, digits and symbols carefully:

B:FWSY;GGUJEN!N@JBQQMRQ;TK
I "I'he product of the nqmbero( digits and the
number of symbols i.a

(A) 49

(B) 56

(C) 63

(D) 70

afT?

102. Present age of Neha and Rashmi are in the
ratio of 7 : 8 respectively. Six years later, the ratio

|, of their ages will become 9: 10 respectively. What

is Rashmi's present age?

(A) 36

JBS 24 q b q"r--r:’l
(C) 28 1& b \
(D) 40 2t

(A) 12°p 9) 103. Direction: Inthe Venndiagram given below
(B) 9 » number of Bengali students of age 18 attending
' o certain online courses during complete lockdown
©) 6 is as follows:
D) 3 The square represents the students who are learning
7 5 Spanish, the triangle is for those who are learning
99. If sinf = 73, then what is the value of | music and the circle is for those who are learning
¢ photography. Study the diagram and answer the
tan@ + secB? ﬁ,’_‘/{ e * questions.
AT 25 | w B
35 ¢0)
(B) 0'5 g‘ \}*f, < /45 30 q\r
©) 15 ﬁ’_";? HEE »}'E(‘
; G |
(D) 1-52 . a LQ .. /
A7
N 43] V| R
/‘ . The value of [TT » \ 1
@ 8 +/12 %"/ How many students are enrolled in Spanish?
A) 2 1 %\/& A) 120
X
(B) 4 Q'L@ q@," (B) 130
©) {2 NG A (©) 140
Sl 3 (D) 150
(D) 8 ui'y

ALY

“u
AT L. - 47

cn@mallfi TR

i

Please Turn Over
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hens and some rabbite
104. Consid , 107. A farmer has some
1der the sequence of dates given below 17 s totab e af this _fg?.i_?f the hens and ¢
§[12|‘?l.2[1|72.29| 1172,2812172, ...

. rabbits is 160 and their total number of heads is.
s o ol 0 o ederica? the numbchi'_s_of hens the farmer have
—y

(a2
(A) 22|3|72 20
(B) 23]3|72 _ J(gls 5
(©) 24|3|72 ©) 10 \6",__{:

105. Direction: Inthe Venn diagram given below
number of Bengali students of age 18 attending

certain online courses during complete lockdown
is as follows:

The square represents the students who are learning '
Spanish, the triangle is for those who are learning @
music and the circle is for those who are learning

photography. Study the diagram and answer the
questions.

What approximately is the percentage of
students who are learning only two things?

|
g (a) (B) © (D) i

106. Two trains running in opposite direction
°T08s a man standing on the platform in 27 secs and

17 secs respectively and they cross each other in 110, Income of X is 25% more than that of the

(B) 42 | |
©) 43 109. The compound interest on Rs. 30,000 at 7% |
JD/ i per annum is Rs. 4,347, The period (in years) is J
) a2 |
(B) 2.5 0 b4 j

©) 3 M ‘/‘(;' i

(D) 4 |

23 secs. The ratio of their speeds is income of Y. What per centis Y's income less than
(A) 1:3 o 't that of X's income? ‘
JB) 3:2 2 he (A) 25%
(€ 2:3 9N - (B) 24% |
D) 3:4 /A €) 20% |

3

L —
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111. Directio hich when divided b
o n: Stud . . st number which, o
carefully and answes uil’;heufollpwmg.mformallon 115. The IC;‘ 42 leaves a remainder Og_ln each
An algorithm questions given below. 15, 27,35 an
following as s_affl‘ange.? 4 Sequence of numbers division 18
an lllusua:ioszfli:lc ;\:lem cach step. Following is (A) 1883 <\
rearrangement, 0 (M€ Subsequent steps of (B) 2007 \<, L7 D2 \
/ ] n< Y

Input: 1897 * '
Srz ! 783106726359 36 12 84 o 1987 K W
Pl 983136726359061284 (D) N AT :

Step 2 \

Step3 8431367263 5906 12 98 q' \"eh’J
P 84313663725906 12 98

Step 4

8431126372 59 06 36 98 AP £ 2\
Input: 59 36 12 98 84 31 06 72 63

% q
7o
: . \
';"I::e sum of th numbers in position 3 and position NS g N s 't,“?’ 2 %‘?l}
~L-corresponding to step 4 is - 116. Sanjeev walks 10 metrés towards the south.

15 s Turning to left, he walks 20 metres and then

o . moved to right. After moving a distance of
i 20 metres, he turns to the right and walks.another
D) 108 20 metres. Finally, he again turns to the right and

moves a distance of 10 metres. How far and in
which direction is he from the starting point?
) 10 metres, North
(B) 20 metres, South

112. If the 5th day of a particular month is
Wednesday then what will be the 23rd day?

(A) Saturday _ (C). 20 metres, North
Sunday 5 AD) 10 metres, South
b —
(C) Monday o / W
(D) Tuesday 1 10
//
v d w
@ Find the least possible 5 digit number U
dividing which by each of 12, 10, 16 and 18 leaves “0
a remainder of 5. \ Difcetin
(A) 10105 \ 0 » O A family consists of six members, namely, A,
(B) 10055 : B,C,D,Eand F.
“{C) 10085 " B is the sister-in-law of C’s mother.
(D) 10155 n % \ C is the sister of F.
s A is the father of D and F is the grandson
@ A man saved Rs. 16,500in 10 years. Ineach of A. '
year after the first year he saved Rs. 100 more than There are three male members in the family.
he did in the preceding year. How much did he The members of the family belong to how
save in the first year? many generations? -
AA) Rs. 1,200 A) Two
(B) Rs. 1,650 .(B) Three ,
(C) Rs. 1,000 (C) Four
(D) Rs. 1,020 (D) Cannot be determined

Please Turn Over
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118. Find the correct figure in whi
figure on the below is embeq ded i

'\7

Ele

b
119. The missing terms in A_P.- % = @ 3
are -— T g Tt

ch the given

XA) (B)

(A) 11 and 9
(B) 17 and 9

£ 18and 8
«B) 18 and 9

120. A trader mixes three varieties of groundnuts
costing Rs. 50, Rs. 20 and Rs. 30 per kg in the ratio
2:4:3interms of weight and sells the mixture at
Rs. 33 per kg. What percentage of profit does he
make?

(A) 8%
(B) 9% "3"3\ qQ

uC)/ 10% /4

(D) None of the above W
24 o
& ko
@ If ‘”%=l and b+-i—=l, then find the

v
value of c+-1- )
a

(A) -1
(B) 1
©) b
(D) -b

F{/M’Ilfl

A-16

U% [/

a0
122. In a certain code ‘a friend of mine’ i
written as ‘4916, ‘mine lot of metal’ is written -
'3109' and ‘a piece of metal’ is coded as ‘7163".5
How can ‘673" be written in same coding system?
(A) A metal piece o

(B) Metal for friend

(C) Piece of advice
(D) None of the above

123. if X _ A+2  then find the value of =

y a-2
X —y?

2048
a’+4
JM 4a
(B) a’+4

a
4a
a’+4
a
a’ +4

©)

(D)

124. The smallest number which when divided
by 12,. 15, 20 or 54 leaves a remainder of t'lr- in each
case, is Y

(A) 454
(B) 564 "

2T 544

(D) 464

below and answer the questions.

(i) Ina family of six persons A, B, C, D, E and
F, there are two married couples.

(ii) D is grandmother of A and mother of B.
(iii) C is wife of B and mother of F.
(iv) Fis grand daughter of E.

Who among the following is one of the

couples?
T (A) CD

B) DE

(C) EB
(D) EC
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AT BMW(C)-10/21 i
126. Direction: In the Venndiagram given below 128. Study the Venn diagram given below:
r}uml?cr of Bengali students of age 18 attending 3NN 7
certain online courses during complete lockdown 10
s as follows: 12/\[ 613 |2
4

1_‘he square represents the students who are learning
Spanish, the triangle is for those who are learning
music and the circle is for those who are learning

photography. Study the di
aucstions, y lagram and answer the

What approximately is the percentage of
students who are learning one thing only?
(A) 48
~B) 49
(©) 50
(D) 51

127. Three sets of books on Maths, Science and
Social Studies have 240, 336 and 96 books in each set
respectively. The books need to be stacked in such a
way that all the books are stacked subject-wise

(1) Rectangle represents males.

(2) Triangle represents educated.
(3) Circle represents urban.

(4) Square represents civil servants.

Which of the following is neither a civil
servant nor educated but is urban and a male?

(A) 2
(B) 3
© 6

By 12

129. In a two ‘digit number, the unit’s digit
exceeds ten’s digit by 2 and the product of the sum
of the digitsand the number is 144, then what is the
number? '

RISETER

B) 0 \oV\"'\'l
(C) 68 - UL
(D) 46 v
T e
R}

. 130. If A and B complete a job working together
in ?0 days, B and C together in 15 days and C and
A in 12 days, all three working together will be

;and number of books in each stack is same. The total a,
minimum number of stacks will then be, able to complete the same job in, o o

(A) 14 (A) 9 days A b~ Q(7F‘°'

\_gB‘f48 ‘u,b\\ B) 10 days ‘q/ D
TORAP - \
(C) 22 %‘L‘i X\/ (C) 105 days
(D) 21 & (D) 6da
' %v\ ys ?

Please Turn Over
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131. Pointing to a photograph
Pramod, *'I am the only daushten of this 1ty o

, y daughter of this lady and
her son 1s your maternal uncle.”’ How the speaker
is related to Pramod’s father?
(A) Sister-in-law
A(B) Wife
(C) Mother

(D) Sister

4

132. Direction: In each question below two
problem figures are given. These are followed by
four answer figures indicated by (A), (B), (C) and
(D). The two problem figures have some common
characteristic features. You have to find out one of
the answer figure which has the same commonality.

The number of that answer figure is the required
answer.

-+

Problem figures O

A

Answer figures

&

4

(A) (B)

© <

hoose the number from the given
atives which is different from others.

T AT

134, The roots of the equation

1 =-l-+—1"+'!'

ptgtx p 4 *
(A) p+q,P-4
(B)

©

NG 2

are

135. The number of multiples of 4
and 250 is

(A) 50

(B) 40
(C) 60

\(9-30

136. If tanO + sec® =4, then what is the
vy ea TEEE

a 8
(A)

17
8

15
15

17
23

32

(B)
©

(D)

AB and CD are two parallel chords of
cittlesuchthat AB=10cmand CD=24cm. If
chords are on the opposite sides of the centre
distance between them is 17 cm, then the radius
the circle is

S (A) 12em
(B) 13cm
(C) 10cm

o
(#) 7 «”
(B) 15 5 g
(©)-31* cp-(’
(D) 57

(D) 11cm
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that had been in the
(A) 4000
~B) 2430
(C) 3000
(D) 1458

state 3 years before is

_I“ AABC, D, E and F are respectively
the mid-points of sides BC, CA and AB; if

é BA(};;Z'; 16 sq cm, then the area of the trapezium
(A) 40sqcm = 3
(B) 8sqcm =
(C) 12sqcm o ® v
(D) 24 sqem

40, ABCD is a quadrilateral in which P, Q, R
S are the mid-points of AB, BC, CD and DA
respectively. Then PQRS is

A (A) trapezium

B) parallelogram
(C) rectangle,

(D) square

141. Direction:
A family consists of six members, namely, A,
B,C,D,EandF.
B is the sister-in-law of C’s mother.
C is the sister of F.
A is the father of D and F is the grandson
of A.
There are three male members ixl the family.
Who s theaut o0 F5
(A) E
(B) D
C) B
(D) None of the above

BMW(C)-10121

ge marks of three batches of 55,

. If the avera : !
6:)‘::1d 45 students respectively 18 50, ;5, 60, then
the average marks of all the students is

(A) 53.33
(B) 54.68
(C) 55
\_D) None of the above

143. Rita told Mani, “The girl I met yesterday at
the beach was the youngest daughter of the
brother-in-law of my friend’s mother”. How is the
girl related to Rita’s friend?

(4) Cousin

(B) Daughter 2
(C) Niece /F
(D) Aunt -

'S
™

144. The maximum number of students among
whom910 pens and 1001 pencils can be distributed
) —
in such a way that each student gets same number
of pens and pencils, is

(A) 1911

(B) 910

(C) 1001
91

145.. The number of coconuts plucked from each
tree ISJ more than the number of coconut trees in
{\nil' s garden. The total number of coconut plucked
is 132. The total number of coconut trees in the

garden is
PR L 12
A) 12 "t Q“) £\
(B) 22 ",
©) 11 "
(D) 33

Please Turn Over
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146. A person runs for 1 hour, 1 hour
and 1.5 hours, respectively, along ihe'alife :‘:;‘: @ ulna : forearm :: tibia :?

vare track. If length o A) le
sposreitck, [l of each sideis 20k, then ((B; hiz
M 16 ) hand
(B) 22 % (D) thigh
(C) 24
(D) 26

151. Following the pattern, find the missing

number: ﬁ
.13 11 8 L
147. The average of first ten prime numbers 3. 9 6 6
which are odd is 8 2 4 1
() 28 | | 34 46 40 7
AB) 13.8 (A) 20
(C) 15.8 _ B) 22
(D) 17 ©) 24
NCE
1 2 ! ; . o’
148. Solve : x+1 + x+5 dl) 152. ﬁn@mlggylsmlamdtohdanmthem.

way as Anthology isrelatedto ____.

1
W) 3 " (A) Nature
’ 1 "y (B) Trees
iy g L4 (C) ‘Apes
. | W
(D) +3 %—f
) Q
_29. is equal to
32 ¢
o 4
149. 1fa=999,b=998,c= 997, then the value :g /
of a® + b3 + ¢? — 3abc willbe * ® 51
8982 4
&) . ar® © 2
(B) 8980 )% W 5
9
(C) 8983 D) :

(D) 8985
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154. A certain sum
Rs. 1,680 in 3 years an
Find the sum and rate

of money amounts to
d to Rs. 1,800 in 5 years.
of simple interest.

(A) Rs. 1,200 ; 49
B Rs. 1,500 49 y %u\}o
(C) Rs. 1,800 : 5% \b‘b Za
(D) Rs. 1,600 . 5% \/y
bo

@. Find the odd one out: W
Measles, Rubella, Pneumonia, Rabies
\AA) Measles
(B) Rubella
(C) Pneumonia
(D) Rabies

156. Sushant spent 18% of his monthly salary on
buying electronic goods and 32% of the monthly
salary on repair work in his house. Out of
remaining amount he invested 42% in fixed
deposit. If he was left with Rs. 12,325, how much
is his annual salary?

(A) Rs. 5,18,000 8 |
(B) Rs. 5,15,600 {

Rs. 5,10,000 e i

(D) Rs. 5,01,000 13 /\\t{;—kg

‘l"; 9 %” \\h

U Y
e it
157. Ifareaofcircular is X squnit, perimeter 4

is Y unit and length of diameter is Z unit, then the ]

value of X/YZ is
@ 12 %,s,'zﬁ
L 1 Ny B R o
©) 1 W qﬁf
(D) 1/8 A b L

158. Entomology : insect :: ornithology :?
(A) plant
(B) fish

BMW(C)-10/21

a right-angled triangle XYZ, £LY =907,
J6 and XZ - YZ =2, then secX +tanY

is

b4
?

(A) 26
. Y6

2
1

J6
(D) J6

160. In a certain code language AMITABH ?s
written as AABHIMT and DHARMENDRA is

written as AADDEHMNRR. How will MITHUN
be written in that code language? pBY
(A) HIMNTU ﬁ,p\'ﬂ
_~(B) HINMTU
(C) IHMNTU
(D) HIMNUT

(B)

(©)

61) EGIK isrelated to WUSQ in the same way
as DFHI is related to ¢ L
(A) BDFH E._j’\m
(B) ECGF
vC) SQOM  y ¢ W3
(D) XVTR ~ ~" T

r, 162. In a class of 150 students 70 passed in
%nathematics, 60 students passed in statistics and
1 20 in both subjects. Then number of students
failed in both subjects is

JAT 30 IS 60
[ Y (B) 40 4
(C) 50 g
(D) 60
e

l§3. If the surface areas of two spheres are in the
ratio 4 : 9, then the ratio of their volumes will be

(A) 4:9 Low =
(B) 16:27 v W'ﬂ z/p'i' 5
\(C) 827 W

(D) 16:9

Please Turn Over
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164. Which of the following is the valye of rest on Rs. 2,000 in

256x256-144x144

S S f\f;/\wyﬁ,’a

(A) 360 a

(B) 400 -
(©) 380 /gﬁt )
(D) 420 N"’"\

3 il
165. If & + 2& + && + 1&& =2 &@)then &
stands for '

(A) SR 1 %S

(A) 2.5
“AB) 6 n< (B) 2.0 yo
(C) T <
. (€) 1.75 L?/(é }%
(D)
‘N \93')/ 1.5 \ J\ .
171. The difference between the compound
interest and the simple interest at the same rate
% 1 of interest, for the amount Rs. 5,000 in'2 years, 18
If x=7—4\/§ , then \(J_t +T=? \_,d Rs. 32. The rate of interest is
- Ix 3
M (A) 5% IRCE
A) 1 o 2
i (B) 10% ;
N @®) 2 yp® (B) ?x‘é 'L/"J .
. » (C)12% ¢ 3
#©) 4 2 | ¥
D) 16
4 @ Find the largest possible 4 digit number
"divisible by 45, 18 and 35. ,
. (A) 9540 v
167. If 17thtermof an A P. exceeds its 1'0thterm 9450
by 7. The common difference is e ﬂ ) -
Jf() 1 (C) 9460
B) 2 - (P) 9150 ]
©) 3 3 @ In AABC, ZB = 90°, BC=7cm, if
(D) 4 0 AC - AB = lcm, then the value of sin® is

If the median drawn on the base of a triangle
isTalf its base, the triangle will be

(A) equilateral

B) right-angled
(C) acute-angled

(D) obtuse-angled

L LR

169. The compound inte

2 years, if the rate of interest 18 _ﬂ_‘ﬁ; per annum for

for the second

the first year and 3% per annum M Yq“b

year, will be o\
(A) Rs. 14340  u&” ﬁ |
(B) Rs. 14140 ¢ AN

(C) Rs. 140.40

D) Rs. 142.40

170. Two automobiles are 150 kilometres apart
and traveling towards each other. One auton?oblle _
is moving at 60 km/h and the other is moving at
40 km/h. In how many hours will they meet?

7 2
(A) 23
\
7 C3° “\",(:\ E |
) .

G

(B) 33

24
25

25
24 )
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; A man makes a profit of 20% on selling
207articles for Re. 1. The number of articles he

i

A-23

174. The average age of three boys is 15 years
and their ages are in proportion 3 - - B A Whpaﬁ isthe
age in years of the youngest boy?

(A) 15 )

(B9 W&

©) 18 & )

(D) 21 V73
\

175. A single person takes 6 minutes to fill a
bottle. If from 11 amto 12.30 pm 1845 bottles are

tobe f'lll.ed, how many persons should be employed
on this job?

¢
(A) 121 \%‘*
(®) 127 % X )’%&
\Jegm @ i A
(D) 139 \'p

-—

boughtby Re. 1 is
(A) 24
~B) 20
(C) 25
(D) 30

177. Direction: Study the following information
carefully and answer the questions given below.

An algorithm rearranges a sequence of numbers
following a specific rule in each step. Following is
an illustration of input and the subsequent steps of
rearrangement.

Input: 98 31 06 72 63 59 36 12 84
Step1 9831367263 5906 12 84
Step2 84313672 63 59 06 12 98
Step3 84 3] 36 63 72 59 06 12 98
Step4 84311263 72 59 06 36 98

Input: 31 59 06 72 84 12 36 98 63
Which step will be 63 59 36 84 72 12 06 98 31?
(A) Step 1%0
(B) Step 2y
\ €] Step 3

\ﬁpﬂ questions.
%

BMW(C)-10/21
178. Which of the following 'is same as
Emancipate, Free, Release?

~ _(AY Liberate

(B) Quit
(C) Pardon

(D) Ignore

i iven below
179. Direction: Inthe Venndiagram given bek
number of Bengali students of age 18 attending

certain online courses during complete lockdown

is as follows: N . .
The square represents the students who are learni

Spanic:)h. the triangle is for those who are learning
music and the circle is for those who are learning

photography. Study the diagram and answer the

A

\"’Iy

What approximately is the percentage of

students whoare learning all the things? Jj,
(A) 8 wel
B) 9
(C) 10
(D) 11

180. If the product of two successive positive
integers is 7482. Which is the greatest integer?

(A).87.00 ¥

(B) 820

(C) .84~
(D) 89

I181. Thelength of the longest rod that can be put
in a room of dimensions 10m X 10m x Sm is

(D) Step 4

<5l .. -

(A) IS\Em W.(
BY 15m X

(©) 10v2m

(D) 5{/3m

Please Turn Over
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182. Direction: Study the following information
carefully and answer the questions given below.
An algorithm rearranges a sequence of numbers
following a specific rule in each step. Following is
an illustration of input and the subsequent steps of
rearrangement.

Input: 98 3106 72 63 59 36 12 84

Step 1 98 31 36 72 63 59 06 12 84

Step2  8431367263590612098

Step3 84313663 7259061298

Step4 843112637259 06 36 98

<~ Input: M 12 84 98 319__6 725;_31
Which of the following is the third step for this
input? =
63360698 84 31 1259 72
(B) 63360698 3184125972 &\

(C) 633606319884125972 \@-

(D) N f the ab
S WAt

183. The HCF of two numbers is 4 and LCM is
520. If one of the numbers is 52, the other number
is then,

& b0
) 42 Mﬁ/
(C) 52 g
(D) 50

184. In a shop, there were 4 dolls of different
heights A, B,Cand D.D is neither as tall as A nor
as short as C. B is shorter than D but taller than C.
If someone wants to purchase the tallest doll,
which one should he/she purchase? '

\AAK) Only A e
(B) Only D w2
(C) Either AorB
(D) Either BorD

@. The sum of first 16 terms of the A.P.: 10, 6,
By I8 - '

(A) 580
A i ) g
(B) 320 u- \“"L . )
% 400 L (D) 637
o S &0
\\%:\af S

186. A boatman can row aboat downstrea:;:r ::m
upstream at 13 kmph and 9, kmph rcsnpltl:cw atc:";
What will be the speed of boat 1n S )

(in kmph)
(A) 12 J =Y
(B) 10-5 D
i il T
(D) 10 z

187. It has been seen in a survey ofa ;;gion that
70 persons read English newspaper. persons
read Bengali newspaper and 64 persons read both
the papers. If 63 persons do not read any pap;:r on
how many people the survey has been done?

(A) 79 o~ €
_GBY 142 gr— ©
(C) 207

<

@ What is the ratio bétween 2 sqlfare
circumscribing acircle and that of thtz_qgg_gn,sgnbed
in the circle? .
0 the CIrci

(A) 2:1

(B) ﬁ:l

HC) 2:3
D) J2:43

189. If the length of a rectangle is increased by
30% and width by 20%; its area will increased by
(A) 50%
(B) 25% 3
L) 56%

(D) 60%

190. A circularlawn has an area of 154 sq meter,
A path of 7 meter width surrounds the lawn. What
is the area of the la“{n including the path?
(in sq meter)




- it i . A - - -

A-25

191. The distance between the centres of two
circles of radii 1 cm and 7 ¢m is 10cm. The length
of direct tangent (in cm) is '

(A) 2
AMB) 6
) 8
(D) 18

192, Q/o-oougg_lg is equal to A
JA) 06,
(B) 0-006 ‘&3
ALC) 0-06_
(D) 0:0006

If secO = cosecd and 0°< (6, ¢ ) <90°, then
~ ——)

the value of sin(0 + ¢) is
(A) 0

1
(B) 5 b
1
A fisherman can row 2 km against the
stream in 20 minutes and return in 15 minutes. The
speed of the boat in still water is n_—r \,’.& }
(A) 22 km per hour Y {
(B) 33 km per hour 7 A e
) 112kmperhour ‘A ¥ 72
(D) 77 km per hour ,.“hé o L
mae I /s A

195. The area of a trian gle?the length of whose
sides are 50m, 78m and 112m, is

(A) 1480m?

(B) 1600m?

\(2)1680m?

(D) 3360m?

(D) 1

196. If P=99, then P(P’+3P+a)=?

BMW(C)-10/21

In each of the following

. ionshi en

tions, there is a certain relationship th::] "
quesii 'words on one side of : : and one W $
two given her side of : : ; while another word

i the ot : '
igszl:;nbgl:;clcctcd from the given alternatives.

.9

Glucose : Carbohydrates - : Soyabean : ’

( “Proteins
% Vitamins
(C) Minerals
(D) Fibre

197. Direction:

198. Direction:
A family consists of six members, namely, A,
B, C, D, E and F. ‘
B is the sister-in-law of'C'_ s mother.

C is the sister of F. .
A is the father of D and F is the grandson
of A. | .
There are three male members in the family.
The female members of the family are
(A) B,D,E t
(B) B,D,C
[C) B, F »
AD) B.C.E

@If the length of shadow on the ground of a
post is 3—./3 times of its height, the angle of
elevation of the Sun is ‘

(A) 30°

(B) 45°

(C) 60°

(D) None of the above

word ‘GLORJFICATIONS' are interchanged; and
likewise the positions of 4thand 14th, 3rd and 10th
letters, 2nd and 11th letters and 15tand 1 3th letters

are interchanged. Which of the following will be
the 12th letter from right end?

C R S T
(C) 99999. e " ©OR
(D) 999999 pu° VT D) T
aa qa
T e s, i ST e & a o oy o S e

N
(a8

— AW

@ The positions of Sth and 12th letters of the

>



